EARAZROREIERT — 2 N— XBISY —F 202052838 (A) 17EXFH1H

LR 7 >%—#% C3NA EEE R
[x&<£] 1 % :800,000 2 3#:320,000 3 3#:200,000 " ~ 43#:120,000 3 . 5 3 :80,000 M
BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF [SIEH | AR | HE | NG FIB) / BE / £ENS
s < LLiER £ 145, -0-2- . — KRR (KH)
1 3| ¥+ F—E3ID 4 4 7 1(4_5)6 2-2-2-1 | 41.4 11 ;1_344) s
R:AfYagR-—5— B:711RKLZX MEX %Y K
S SRT N # o4 | SREA 1:45.9 10-6-1-2 [41.9| — | 1 | 463 |fBEZE (A
2 o|TYatEynL g 56.0 (1 3/4) © EHI%?J
Z:aArFadv b B:T7X/T54 B Ei
= N PEANIRAE : ~7-9- — FRAN—R (K3)
sl #7591 w1 | Y A Il A Bl I -+
R:ALNTyTINE B:TTRU—L WREHS
o S AN : -12-13- = =H% (K3#)
al1lq|nE=—=1T7L2 K 44 2l N 1(.14;52.)5 12-12-13-11| 40.8 4 ;1_170) EJII?’;?
R:BALINF Ry IX BT RYT7—% #2245
N . ey [+ ] 146. -3-3- . — MERME (K3H)
5157/ E—¥Froy R [ IR R P ETE moxs
Rixfagf—-—— BEIMLY—I L — XK — 45
> = = EPEREX :46. -13-11- . — AEfE= (K¥#)
6l8lis IXFEHZ 4 6 5_0 1(34/%7 13-13-11-12| 41.3 10 (4_131) alhi
R:xA1=ZGr7—R B:XLA FTOLTHHR J—HrTp—L
- ~ e . 45 - BIEEE (k)
7 4| BT —F 1~ 7 e (11417/20> 5-4-5-6 | 42.1 6 (4_22) ’=>=0=1’Z¥
R:ZZHTLR BDd—ILRT1IRR Ve aY ¢l
e H5H : -11-8- = iBEY (KH)
sl5l8 HYRTHLHRZ 4 4 2 1(;1{:5) 11-11-8-10 | 42.1 2 (5_627) WEEE
R:7—-97+—Z B:IALTCTF1—F hnEE F|A
- i 6 | AHES 1:47.3 9-9-10-8 |41.8| — 8 420 | KEZEH (KH)
] 6| FI=vt 54.0 (1 1/2) © |HEsE
L:hT/ RKI147T B:R—%v bETX J—H¥rTr—LA
RN - 5 A :47. ~7-7- . — FHHFAB (KFH)
1017111 INSHITLA X 4 6 o 1(417)5 7-7-7-7 | 42.7 12 (4_132) Fselai
x40 B:xFhxrave #RAEt RUMI 77 —4
RS o NS S : -5-6- — HAR—K (K3#)
11 10 INSHTIILT T 7 o 1(.3%57 4-5-6-5 | 42.8 7 ;1_065) g ais
R:F¥vTFrbhy—L BAYIAY-NTR #AXEt RUMI 77 —4
— [ : —1-4- = AR (KH)
I 5 YeRTIoy s 4 4 i 1.(428).1 1-1-4-4 | 43.4 9 ;1_550) et s
R:Zv—b77Ia> B:2HIVIU-> &I E—
A st :48. -10-12- . - SEEH (K3H)
13 5 ATARTH—X 4 5 54_01— (174;371) 8-10-12-13 | 42.8 14 ;1_2:) ;iﬁj‘:
R:Z2FA4T—E B:yvlbvrgd— EEES: e
LRy S i 6 | AKX 1:48.2 14-14-14-14| 42.1 | — 13 | 465 |REFE (K#)
1418114 HL KRS A51.0 (1/2) +7) AKILFAFK
L4 a7)—TF7 B:oavxy /Nt KRS
@ 1 — @B
1T=7r= 9,3,7,10,4,12,11,5,6,2,8,1,13,14
2a=5F= 9,3,7,4,10,2,(11,12),6,5,8,1,13,14
Ja=9= 2,3,7,9,4,10,11,8,12,6,13,5,1,14
43—+ — 3,2,7,9,10,4,11,6,12,8,1,13,5,14
[ /N
B 3 9,250/ 714K 2-3 2,720 e E 2-3 1,680M JEE 2-3-12 17,000
B B 3 1,510 3-12 6,500/ e B 3-2 5,380 3B 3-2-12 244,860
2 140 2-12 370M B E 2-3 8,050
12 160/ B H 3-2 34,2804

ARICOVWTRDTEEERROODE. TR LI,



